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𝟏 

−𝟔. 𝟓 < 𝒙 ≤ 𝟑

𝟐 𝒚𝒙

−𝒙 + 𝒚 = 𝟑𝒙 

𝟑 

𝒉(𝒙) = 𝒙𝟐 − 𝟖𝒙 + 𝟏

𝒉(−𝟏) = 

𝒇(𝒙) = {
𝟑𝒙𝟐 + 𝟏𝟔 , 𝒙 < −𝟐

√𝒙 − 𝟐 , −𝟐 < 𝒙 ≤ 𝟏𝟏
−𝟕𝟓 , 𝒙 > 𝟏𝟏

𝒇(−𝟒) = 

𝟒 

𝒈(𝒙) = √−𝟑𝒙 − 𝟐

𝒉(𝒕) =
𝟐𝒕 − 𝟔

𝒕𝟐 + 𝟔𝒕 + 𝟗
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𝟏 

𝟐 𝒉

𝟒 

𝒚𝒇

𝒉(𝒙) = √𝒙𝟐 − 𝟗

𝒈(𝒙) = 𝒙𝟐 + 𝟔𝒙 + 𝟏𝟎

𝒇(𝟏) = 𝒇(𝟕) = 

𝟑 

𝒚

𝒙𝒚
𝟓 
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𝟏 𝒙

−𝟔. 𝟓 < 𝒙 ≤ 𝟑  𝒇(𝒙) =
𝒙 − 𝟐

𝒙 + 𝟒

𝟐 𝒙

𝟑 

𝒈(𝒙) = 𝒙𝟒 + 𝟏𝟎𝒙 − 𝟔  ;  [−𝟑 , 𝟐]

𝟒

𝒙 = −𝟒

 

 𝒇(𝒙) =
𝒙𝟐 − 𝟐𝟓

𝒙 − 𝟓
𝒙 = 𝟓
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𝟏 

𝟐 
𝒙𝟎. 𝟓

𝟑 

𝒈(𝒙) = −𝟑𝒙𝟑 − 𝟒𝒙  ; [𝟐, 𝟔]
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𝒙, 𝒚 

𝒇(𝒙) = 𝒄

        

𝒇(𝒙) = 𝒙

        

𝒇(𝒙) =  𝒙𝟐 

        

𝒇(𝒙) =  𝒙𝟑 

        

𝒇(𝒙) =  √𝒙  
𝒙 ≥ 𝟎

        

𝒇(𝒙) =
𝟏

𝒙
𝒙 ≠ 𝟎

        

𝒇(𝒙) = |𝒙|

        

𝒇(𝒙) =  [𝒙]

        

 

𝟏 
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𝒇(𝒙) = {
−𝟏 , 𝒙 ≤ −𝟑

𝟏 + 𝒙 , −𝟐 < 𝒙 ≤ 𝟐
[𝒙] , 𝟒 ≤ 𝒙 ≤ 𝟔

 

 

 

 

  

 

 

 

𝟏 𝒇(𝒙) = √𝒙

𝒈(𝒙) = √𝒙 + 𝟑 + 𝟏

𝟐 𝒇(𝒙) = 𝒙𝟐

𝒈(𝒙)

𝒈(𝒙)

𝒇(𝒙)

𝒈(𝒙) = 𝟐|𝒙 + 𝟐| − 𝟑
𝟑 

𝟒 
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(𝒇 − 𝒈)(𝒙) =

 

 

 

  

 

 

 
 

𝟏 

𝒇(𝒙) = 𝟐𝒙𝟐 + 𝟖  , 𝒈(𝒙) = 𝟓𝒙 − 𝟔

(𝒇 + 𝒈)(𝒙) =

𝟐 𝒇(𝒙) = 𝒙 + 𝟓  , 𝒈(𝒙) = 𝒙 − 𝟑

𝒇 ∘ 𝒈𝒇 ∘ 𝒈 𝟑 

𝒇(𝒙) = √𝒙 − 𝟐

𝟒 𝒇𝒈 

𝒉(𝒙) = [𝒇 ∘ 𝒈](𝒙)

𝐈(𝒙) = 𝒙

𝒉(𝒙) = √𝟐𝒙 − 𝟔 − 𝟏

(𝒇. 𝒈)(𝒙) =

(
𝒇

𝒈
) (𝒙) =

[𝒇 ∘ 𝒈](𝒙) = [𝒈 ∘ 𝒇](𝒙) =

[𝒇 ∘ 𝒈](𝟑) =

𝒈(𝒙) = 𝟑𝒙
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𝟏 

𝟐 𝒇−𝟏

𝒇 , 𝒈 𝟑 

𝒇(𝒙) = 𝟐𝒙 + 𝟑 , 𝒈(𝒙) =
𝒙 − 𝟑

𝟐
 

𝟒 𝒇(𝒙)

𝒇−𝟏(𝒙)

𝒇(𝒙) = √𝒙 − 𝟏
𝟑
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 ن ق س ا ك ع ن ا ز

 ه ت ة ل ص ت م ع و

 ا ض ب و ل ق م ك ج

 ي ي د ي ز ف ق س ي

 ة ق ة ت ب ا ث ي ة

 ة ب ا ح س ن ا ة ي
 

ي  ؟؟ 
حث  عن   اب 

 
o 𝐥𝐢𝐦

𝒙→𝟐
𝒇(𝒙) 

o 𝒇(𝒙) =
𝟏

𝒙
 

o  

o 𝒚 

o  

o 𝒇(𝒙) = √𝒙 − 𝟒𝒈(𝒙) = 𝒙𝟐 + 𝟒𝒇(𝒙). 

o 

 

o 𝒈(𝒙) = −𝒇(𝒙)𝒇(𝒙)𝒙 

o 𝒈(𝒙) = 𝒂𝒇(𝒙)𝟎 < 𝒂 < 𝟏 

o  

  

 كلمة  

 السر 
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𝟏 𝒚 = 𝟓𝒙

𝒚

𝟐 𝒚 = 𝟒(𝟑)𝒙

𝟏𝟐𝟎𝟎𝟎

𝒙

𝟔

𝟑 

𝟒 

𝟓𝟏.𝟓 =

 

𝟒𝟎𝟎𝟎𝟏𝟒𝟐𝟗

𝟓%

𝒚𝒕𝟏𝟒𝟐𝟗 

𝒚
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𝟏 

𝟒𝒙+𝟑𝟓 = 𝟔𝟒𝒙−𝟑

𝟐 𝟕𝟓𝟎𝟎𝟎𝟗%

𝟑 

(
𝟏

𝟐
)

𝒙−𝟑

= 𝟏𝟔𝟑𝒙+𝟏

𝟓

𝟏𝟎𝟐𝒙+𝟕 ≥ 𝟏𝟎𝟎𝟎𝒙 𝟒𝟎𝟎 > (
𝟏

𝟐𝟎
)

𝟕𝒙+𝟖

𝟒 𝟓𝟎𝟎𝟎𝟖𝟐𝟖𝟎𝟎𝟎

𝒚 = 𝒂𝒃𝒙𝒚𝒙
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𝟏 

𝐥𝐨𝐠𝟔 𝟐𝟏𝟔 = 𝟑

𝟐 

𝟑 

𝟒 

𝐥𝐨𝐠𝟐𝟓 𝟓 =
𝟏

𝟐

𝟓𝟑 = 𝟏𝟐𝟓

(
𝟏

𝟒
)

𝟑

=
𝟏

𝟔𝟒

𝐥𝐨𝐠𝟐

𝟏

𝟏𝟔

𝐥𝐨𝐠𝟗 𝟏

𝐥𝐨𝐠𝟔 𝟔𝟒

𝐥𝐨𝐠𝟏𝟎 𝟎. 𝟎𝟎𝟎𝟏

𝒇(𝒙) = 𝐥𝐨𝐠𝟏
𝟐

𝒙
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𝐥𝐨𝐠𝟏𝟎

𝟕

𝟓

 

 

 

 

 

  

 

 

𝟏 𝐥𝐨𝐠𝟏𝟎 𝟓 ≈ 𝟎. 𝟔𝟗𝟗𝟎 , 𝐥𝐨𝐠𝟏𝟎 𝟕 ≈ 𝟎. 𝟖𝟒𝟓𝟏

𝐥𝐨𝐠𝟏𝟎 𝟑𝟓

𝟐 

𝟑 

𝐥𝐨𝐠𝟏𝟎 𝟐𝟓

𝟒 

𝐥𝐨𝐠𝟖[(𝟒𝒙 + 𝟐)𝟑(𝒙 − 𝟒)]

𝟑 𝐥𝐨𝐠𝟐(𝟓𝒙 + 𝟔) −
𝟏

𝟐
𝐥𝐨𝐠𝟐(𝒙 − 𝟒)

𝐥𝐨𝐠𝟐 √𝟒
𝟓 𝐥𝐨𝐠𝟏𝟎𝟎 𝟏𝟎𝟎𝟎𝟎
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𝟏 

𝐥𝐨𝐠𝟏𝟔 𝒙 =
𝟑

𝟐

𝟐 

𝐥𝐨𝐠𝟏𝟎(𝒙 − 𝟓) = 𝐥𝐨𝐠𝟏𝟎 𝟐𝒙

𝟑 

𝐥𝐨𝐠𝟖𝟏 𝒙 ≤ 𝟎. 𝟕𝟓 

𝐥𝐨𝐠𝟖(𝒏 − 𝟑) + 𝐥𝐨𝐠𝟖(𝒏 + 𝟒) = 𝟏

𝐥𝐨𝐠𝟗(𝒙 + 𝟐) > 𝐥𝐨𝐠𝟗(𝟔 − 𝟑𝒙)
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𝟏 

𝐥𝐨𝐠 𝟏𝟎𝟏

𝟐 

𝟓𝒂 = 𝟏𝟐𝟎

𝟑 

𝐥𝐨𝐠 𝟎. 𝟎𝟓

𝟒 

𝐥𝐨𝐠𝟓 𝟏𝟐

𝟒𝟐𝒙 > 𝟗𝒙+𝟏 𝟐𝒏+𝟏 ≤ 𝟓𝟐𝒏−𝟏
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𝟒 𝟐 𝟎 𝟏 𝟐 𝟖 
𝟎 𝟓 𝟗 𝟔 𝟕 𝟐 
𝟏 𝟎 𝟑 𝟎 𝟑 𝟖 
𝟗 𝟏 𝟔 𝟓 𝟔 𝟏 

 

ي  ؟؟ 
حث  عن   اب 

𝒙

 o 𝐥𝐨𝐠𝟗𝟏 𝒙 = 𝟐 

 

o 𝐥𝐨𝐠𝟔 𝒙 =  𝐥𝐨𝐠𝟔 𝟕𝟔𝟗𝟓𝟎  

                                        

o 𝟗𝟐𝒙 =  𝟗𝟔𝟎 

 

o 𝐥𝐨𝐠𝟐𝟕 𝟐𝟕 = 𝒙 

 

o 𝐥𝐨𝐠𝟗 𝒙 = 𝟒 

 

o 𝐥𝐨𝐠𝟏𝟔 𝒙 =
𝟓

𝟐
 

 

o 𝐥𝐨𝐠𝟏𝟓 𝟏 = 𝒙 

 

 

  

 الرقم
  السري
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𝟏 

 𝐜𝐨𝐭 𝜽𝐜𝐨𝐬 𝜽 =
𝟑

𝟏𝟎
𝟐𝟕𝟎° < 𝜽 < 𝟑𝟔𝟎° 

𝟐 

 𝐬𝐢𝐧 𝜽𝐜𝐨𝐬 𝜽 =
𝟐

𝟑
𝟎° < 𝜽 < 𝟗𝟎° 

𝐜𝐬𝐜 𝜽  𝐭𝐚𝐧 𝜽

𝐬𝐢𝐧𝟐 𝜽

𝐭𝐚𝐧𝟐 𝜽

𝐜𝐬𝐜 𝜽 − 𝐬𝐢𝐧 𝜽

𝐜𝐨𝐬 𝜽

𝐜𝐨𝐭𝟐 𝜽 + 𝟏
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𝟏 

𝐬𝐢𝐧𝟐 𝜽 + 𝐜𝐨𝐬𝟐 𝜽

𝐜𝐨𝐬𝟐 𝜽
= 𝐬𝐞𝐜𝟐 𝜽

𝟐 𝟏−𝟏

𝐜𝐨𝐬𝟐 𝜽

𝟏 − 𝐬𝐢𝐧𝟐 𝜽
= 𝟏

𝐜𝐨𝐬𝟐 𝜽 𝐜𝐨𝐭𝟐 𝜽 = 𝐜𝐨𝐭𝟐 𝜽 − 𝐜𝐨𝐬𝟐 𝜽

𝐬𝐢𝐧𝟐 𝜽 (𝐜𝐬𝐜𝟐 𝜽 + 𝐬𝐞𝐜𝟐 𝜽) = 𝐬𝐞𝐜𝟐 𝜽

𝐜𝐨𝐬(−𝜽) 𝐬𝐞𝐜 𝜽𝐬𝐢𝐧(−𝜽) 𝐜𝐬𝐜 𝜽
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𝟏 

𝐬𝐢𝐧 𝟏𝟎𝟓°

𝟐 

𝐜𝐨𝐬 𝟕𝟓°

𝐭𝐚𝐧 𝟏𝟓° 

𝐜𝐨𝐬(𝟏𝟖𝟎° − 𝜽) = − 𝐜𝐨𝐬 𝜽 𝐬𝐢𝐧(𝟑𝟔𝟎° + 𝜽) = 𝐬𝐢𝐧 𝜽
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𝟏 𝐜𝐨𝐬 𝜽 =
𝟏

𝟒
  ; 𝟐𝟕𝟎° < 𝜽 < 𝟑𝟔𝟎°

𝐬𝐢𝐧 𝟐𝜽

𝟑 

𝐜𝐨𝐬 𝟐𝜽

𝐜𝐨𝐬
𝜽

𝟐

𝐬𝐢𝐧
𝜽

𝟐

 

𝟐 𝐭𝐚𝐧 𝜽 = −𝟑 ; 𝟗𝟎° < 𝜽 < 𝟏𝟖𝟎°

𝐭𝐚𝐧 𝟐𝜽 

𝐬𝐢𝐧𝟐
𝜽

𝟐
=

𝐭𝐚𝐧 𝜽 − 𝐬𝐢𝐧 𝜽

𝟐 𝐭𝐚𝐧 𝜽
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𝟏 𝜽

𝟐 

𝟑 

𝟒 

𝟐 𝐜𝐨𝐬 𝜽 − 𝟏 = 𝟎  ;  𝟎° ≤ 𝜽 ≤ 𝟑𝟔𝟎°

𝟎° ≤ 𝜽 ≤ 𝟐𝝅

𝟎° ≤ 𝜽 ≤ 𝟐𝝅

𝜽𝜽

𝟒 𝐬𝐢𝐧𝟐 𝜽 − 𝟏 = 𝟎

𝐬𝐢𝐧 𝟐𝜽 − 𝐜𝐨𝐬 𝜽 = 𝟎

𝟒 𝐜𝐨𝐬𝟐 𝜽 − 𝟒 𝐜𝐨𝐬 𝜽 + 𝟏 = 𝟎 
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ي  ؟؟ 
حث  عن   اب 

 

………………………….. Season

 

 

 

  

d l o r n i s t 

c t i o r e z r 

o a c c e s y u 

s n o a c s c e 

i p t f l a h d 

h s u l p e n o 
 

 كلمة 
 السر 

𝟏) 
𝟏

𝐬𝐢𝐧
=              𝟐) 

𝟏

𝐜𝐨𝐬
=                𝟑) 

𝟏

𝐭𝐚𝐧
=             𝟒) 

𝟏

𝐬𝐞𝐜
= 

             𝟓) 
𝟏

𝐜𝐬𝐜
=             𝟔) 

𝟏

𝐜𝐨𝐭
=           𝟕) 𝐜𝐨𝐬𝟐𝟕𝟎° =         𝟖) 𝐬𝐢𝐧𝟗𝟎° =          

                               𝟗)𝐨𝐩𝐩𝐨𝐬𝐢𝐭𝐞(𝐧𝒆𝒘)              𝟏𝟎)𝐨𝐩𝐩𝐨𝐬𝐢𝐭𝐞( 𝐅𝐚𝐥𝐬𝐞)                                                           

                  𝟏𝟏) 𝐬𝐢𝐧 𝟑𝟎° =               𝟏𝟐)𝟏𝟖𝟎° = ⋯ 𝐫𝐝                                                        

               𝟏𝟑) 𝐜𝐨𝐬 𝟕𝟓° = 𝐜𝐨𝐬(𝟒𝟓° … … 𝟑𝟎°)            
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(𝒙 − 𝟏)𝟐 = 𝟖(𝒚 − 𝟐)

 

 

 

  

 

𝟏 

𝒙𝟐 + 𝟖𝒙 = −𝟒𝒚 − 𝟖

𝟐 

𝟑 

(−𝟐 , 𝟒)(−𝟐 , 𝟑). 

(𝟎 , 𝟏)(𝟖 , −𝟕). 
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𝟏 

(𝒙 − 𝟑)𝟐

𝟏𝟔
+

(𝒚 + 𝟔)𝟐

𝟐𝟓
= 𝟏

𝟑 𝟒

(−𝟔 , 𝟏)𝟖

𝟐 

(−𝟐 , 𝟏), (−𝟐 , 𝟕)𝟏𝟎

(𝒙 + 𝟏)𝟐

𝟐𝟓
+

(𝒚 + 𝟏)𝟐

𝟏𝟔
= 𝟏
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𝟏 

𝒚𝟐

𝟏𝟔
−

(𝒙 − 𝟏)𝟐

𝟒
= 𝟏

𝟑 

𝟐 

(𝟎 , 𝟔), (𝟎 , −𝟒)𝟖

(𝒙 − 𝟕)𝟐

𝟑𝟔
+

(𝒚 + 𝟏𝟎)𝟐

𝟏𝟐𝟏
= 𝟏
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𝟏 

𝒙𝟐 + 𝒚𝟐 + 𝟐𝒙 − 𝟒𝒚 + 𝟏 = 𝟎 

𝟐 

𝟓𝒙𝟐 + 𝒙𝒚 + 𝟐𝒚𝟐 − 𝟓𝒙 + 𝟖𝒚 + 𝟗 = 𝟎

 

𝟒𝒙𝟐 + 𝟖𝒙𝒚 + 𝟒𝒚𝟐 + 𝒙 + 𝟏𝟏𝒚 + 𝟏𝟎 = 𝟎 

𝟐𝒙𝟐 + 𝟒𝒚𝟐 − 𝟑𝒙 − 𝟔𝒚 + 𝟐 = 𝟎

 𝟏𝟔𝒙𝟐 − 𝟒𝒚𝟐 − 𝟖𝒙 − 𝟖𝒚 + 𝟏 = 𝟎 
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o  

o 
(𝒙+𝟒)𝟐

𝟗
−

(𝒚+𝟑)𝟐

𝟒
= 𝟏

o 
𝒙𝟐

𝟒𝟗
+

𝒚𝟐

𝟑𝟎
= 𝟏

o (𝒚 − 𝟑)𝟐 = 𝟐(𝒙 + 𝟔) 

o (𝒙 − 𝒉)𝟐 + (𝒚 − 𝒌)𝟐 =  𝒓𝟐 

o 𝒆 

o 𝒄  

o 𝒂 

o  

o  

o  

o 𝒚 − 𝒌 = ±
𝒃

𝒂
(𝒙 − 𝒉) 

 

 

 

 

 

  

 ت ج ي ز ك ر م أ

 ق ن  ـئـ ف ا ك م د

 ا ا ي ء ز ج ز ا

 ر ق ة ر ؤ ب ا ئ ـ

 ب ص ا س أ ر  ــئ ر

 ل ط و ر خ م د ة

 ي ر ؤ ب ز ي م م
 

@nada_mn_ 

ي  ؟؟ 
حث  عن   اب 

 

 

  

 كلمة 
 السر 
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• 

 

• www.pinterest.com 
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هرس:   
 الف 
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ة   وظ 
وق  محق 

ع الحق  مي   .ج 



 

https://t.me/RAFAH_Secondary5
https://twitter.com/maths0120?s=21
https://youtube.com/channel/UCSuTr4xQF93yTcyBhRr-jhg
https://www.snapchat.com/add/maths0120
https://instagram.com/math0120?utm_medium=copy_link

